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Tomorrow both will not be
able to eat Indian sweets.

fed English Possibilities Tense/Aspect
o a9 Tggeart et @1 gl | Tomorrow Das will be able | Future
fo eat Indian sweets.
w S T ! Tomorrow Sita will be able
. o fo eat Indian sweets.
FA IAT (ggraTaT HST2at |T 78t

a o N
LN QT T EATAT THITAT 9T "HehdT

2l

TS TqT fggearT fMareat ar adr
el

e [a e ]
LINST QAT TELEATAT THSTAT €T Hehd

Every day Das is able to
(can) eat Indian sweets.

Every day Sita is able to
(can) eat Indian sweets.

Every day both are able to
(can) eat Indian sweets.

Present Habitual
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Every day Das used to be
able to eat Indian sweets.

Every day Sita used to be
able to eat Indian sweets.

Every day both used to be
able to eat Indian sweets.

Past Habitual
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English Possibilities

Tense/Aspect

ATt =19 fegeart et ar @&
AT HiaT fegearr [Mareat a1 a4l

AT 2T fEgeamt fgereat 98t ar
e

Today Das was able to
(could) eat Indian sweets.

Today Sita was able to
(could) eat Indian sweets.

Today Both were able to
(could) eat Indian sweets.

Perfect

AT T 39 [ggea™l (Forsdl ar
TqHT Bl

T T Hiar fggear Hereat |t
N
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Until now Das has been
able to (could) eat Indian
sweets.

Until now Sita has been
able to (could) eat Indian
sweets.

Until now both have not
been able to (couldn’t) eat
Indian sweets.

Present Perfect

qgq AT Taer a9 fegeart Hareat
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ERIECIRCIEEARL

el [N ]
®|§(‘I Al Hedl il lgetdiqdl [Holg4l]

el @1 T A

Many years ago Das was
able to (could) eat Indian
sweets.

Many years ago Sita was
able to (could) eat Indian
sweets.

Many years ago both were

not able to (couldn’t) eat
Indian sweets.

Past Perfect




